Name: _______________________

	date
	partyID
	partyAddress
	HostID
	custID
	CustName
	custAddress
	custPhone
	payType
	itemID
	itemDesc
	itemPrice
	quantity

	5/5/92
	P0001
	12 Cherry …
	C0001
	C0001
	Leslie
	12 Cherry …
	215.123.4567
	check
	I0011

I0042

I0012
	Lemon Votive ...

Spirit of 76 …

Cherry Votive …
	$5.99

$12.95

$5.99
	4

2

4

	
	
	
	
	C0002
	Bobbi
	34 Oak Lane …
	215.999.999
	Visa
	I0012

I0013

I0014
	Cherry Votive …

Vanilla Votive ...

Bayberry Votive
	$5.99

$5.99

$.599
	3

3

3

	
	
	
	
	C0003
	Teresa
	56 Elm St. …
	215.521.5121
	Cash
	I0042
	Spirit of 76 …
	$12.95
	1

	6/7/92
	P0002
	34 Oak Lane
	C0002
	C0004
	Beth
	78 Spruce Ave ...
	215.632.8222
	Visa
	I0012

I0013

I0014
	Cherry Votive …

Vanilla Votive ...

Bayberry Votive
	$5.99

$5.99

$.599
	1

2

1

	…
	…
	…
	…
	…
	
	…
	…
	…
	…
	…
	…
	…


1. Identify a primary key for the flattened table.

2. Are there any candidate keys? 

3. Identify any functional dependencies. 

4. Are there any partial dependencies on the primary key?

5. Are there any transitive dependencies on the primary key? 

6. Decompose (normalize) the table to 3NF. 

